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(mm) yid a 13 (kg/cni)
0.5 40 5.0 450 38.05
1.0 8.0 9.0 8.50 71.88
1.5 12.0 13.0 12.50 105.71
20 16.5 17.5 | 17.00 143.76
2.5 20.0 21.0 | 20.50 173.36
3.0 235 | 250 | 2425 205.08
5.0 36.5 38.5 37.50 317.13
1.5 52.5 54.5 53.50 452.44
10.0 70.0 72.0 71.00 600.44
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40.0 555.0 555.0 0 0 100.00
375 542.7 542.7 0.0 0.00 100.00
31.5 528.2 528.2 0.0 0.00 100.00
19.0 545.4 545.4 0.0 0.00 100.00
13.2 573.8 573.8 0.0 0.00 100.00
9.5 623.4 543.1 80.3 10.35 89.65
6.7 618.7 4774 141.3 18.22 71.42
4.75 609.3 527.7 81.6 10.52 60.90
2.36 701.2 505.1 196.1 25.29 35.62
1.180 711.9 464.7 247.2 31.88 3.74
0.425 382.3 356.3 26.0 3.35 0.39
0.075 319.9 316.9 3.0 0.39 0
0.0 350.1 350.1 0.0 0 0
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